Mixed Operations with Brackets

Name: Class:

Calculate each of the following

14 x (200 - 170) =

(345 -187)x 27 =

1,089 + (34 + 87) =

(674 +822) + 17 =

23 x (456 - 169) =

(786 - 433)x 19 =

3,807 = (25 +22) =

(961 + 599) = 24 =

(198 -104) x 83 =

3,397 = (12 + 67) =
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(910 -776) x 25 =

2,340 + (17 + 28) =

(843 +123) + 14 =

19 x (500 - 322) =

(185 -113)x 57 =

2,640 + (21 +23) =

(555 +759) + 18 =

(403 -282)x 35 =

2,640 + (17 +31) =
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Answers

Calculate each of the following

14x (200-170) = 420
(345 -187)x 27 = 4,266
1,080 ~(34+87)= 9
(674 +822)+17 = 88

23 x (456-169) = 6,601

(786 -433)x 19 = 6,707
3,807+ (25+22)= 81
(961 +599) =24 = 65
(198 -104)x 83 = 7,802
3,397+ (12+67)= 43
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(910 -776)x 25 = 3,350
2,340+ (17 +28)= 52
(843 +123)+ 14 = 69

19 x (500 - 322) = 3,382

(185-113)x 57 = 4,104
2,640 = (21 +23)= 60
(555+759)+ 18 = 73
(403 -282)x 35 = 4235
2,640 = (17+31)= 55
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